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¢, = tan"'y, = tan '(0.35) = 19.29°
2T T
sina ~ sing,

sina = 2 sing, = 2 sin19.29° = 0.6607
a = sin"!(0.6607) = 41.35°
0 = a + ¢, = 41.35° + 19.29° = 60.64°

6 = 60.6°
840 P=8N, p =025 r=0076m, 6 =65 F
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Y>Mg=0,; Mg - (r sind) N - (r cosfd) FF =0
My = (r sind) N + (r cosf) F
= (0.076 m)sin65° (8 N) + (0.076 m)cos65° (2 N)
= 0.6153 N'm
(Mg)max = 0.615 N-m?)

(b) Mp F
wheel
Y>Mp=0; Mz - (rsing) N+ (rcosf) F=0
My = (r sind) N - (r cosf) F
(0.076 m)sin65° (8 N) — (0.076 m)cos65° (2 N)
0.4868 N'm
(Mg)min = 0.487 N-m)



